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RARE | FEst | F-HBAK B3 AL A HE £ EEH#ANT—HE| &%
22FDO01 e 81.7 24 &, Pl A
22FD01 A G 81.8 23 &, T #AD
22FDO01 s 85.9 17 =
22FD01 g A 92.5 2 =
22FD01 R & E — &
22FD01 (A7 E — &
22FD01 N e i — &
22FD01 -0 % — %
22FD01 X 3 81.3 25 &, T #AD
22FD01 H % 75.5 34 %, T #AD
22FD01 & A 86. 3 15 =
22FDO01 &R E — &
22FD01 Z g i 77.2 31 &, Ak
22FD01 F MK 74.3 38 &, T #AD
22FD01 Z 78. 2 28 %, F#Ah
22FD01 Z Bk 85. 7 19 &, T #AD
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RURD | FEEL | F_HBEESE SEVASE: 24 EHHANT—HE| &E
22FD01 F fh R 77.7 30 &, B A
22FD01 xR 89. 7 5 =
22FD01 HER 89.0 8 =
22FD01 3 HhE — #
22FD01 A hE — &
22FD01 FAEA EE — =
22FD01 & 82.3 22 &, B A
22FD01 AR HhE — =
22FD01 E M e — &
22FD01 R 88.5 9 =
22FD01 FEN B E — #
22FD01 =18 e — #*
22FD01 RZAT 76.5 32 &, ¥ #EA
22FD01 M 86.9 14 =
22FD01 Y 25 84. 8 21 &, ¥ #EA
22FD01 RIS 85.5 20 &, ¥ #EA
22FD01 #t X 78.5 26 %, A
22FD01 R 75.5 35 &, Al
22FD01 = 93.0 1 =
22FD01 T A 74.5 37 &, ¥ #EA
22FD01 o HhE — &
H2T, 36T




RORD | FEEL | F_NHBEREK B3 AL A HE £ EEH#NT—ME| &%
22FD01 Vi) 88. 2 12 =
22FD01 K I A EhE — %
22FD01 K AR 86. 2 16 =
22FD01 KA E — &
22FD01 7K > 74.7 36 &, P #EA
22FD01 KR 88. 2 11 =
22FD01 RS 89. 5 6 =
22FD01 Ko 85.9 17 =
22FD01 KT E — &
22FD01 EHEE 88.5 10 =
22FD01 #E B 89. 3 7 =
22FD01 # L5 78.3 27 &, Al
22FD01 #AE HhE — &
22FD01 R 75. 8 33 &, F A
22FD01 ik 87.5 13 =
22FD01 JE 181 E — &
22FDO01 IHE S 90. 3 4 =
22FD01 BlEW 73.7 39 &, Al
22FD01 JE R E — &
22FD01 KIE A 92.4 3 =
22FDO01 K IRkM 72.0 40 &, i Ah
%37, 367




RURD | FEEL | F_HBEESE SEVASE: 24 EHHANT—HE| &E
22FD01 A7 78.2 29 &, B A
22FD02 ZEH 79.8 28 &, B A
22FD02 B R i — &
22FD02 1 5% HhE — #
22FD02 %8 X 86. 0 18 %, A
22FD02 G 84.8 20 &, W EA
22FD02 (G 90. 0 8 =
22FD02 -5 77.3 32 &, ¥ A
22FD02 = B A 87.7 14 =
22FD02 A 79.3 31 &, F Al
22FD02 TR % 87.3 15 %, F#EA
22FD02 TR 91.2 7 =
22FD02 P RE 74.8 34 &, ¥ #EA
22FD02 R 1z 81.3 26 &, ¥ #EA
22FD02 i 88.0 13 =
22FD02 Ak 85.8 19 &, ¥ #EA
22FD02 i B 86. 3 17 %, A
22FD02 P 89. 2 11 =
22FD02 ZF S 83.2 24 &, ¥ #EA
22FD02 HEAE 89. 8 9 =
22FD02 FTH % 84. 0 22 &, B AN
$4T, 36T




RURD | FEEL | F_HBEESE SEVASE: 24 EHHANT—HE| &E
22FD02 AR E 94. 8 1 =
22FD02 == i — =
22FD02 &K 84.5 21 &, B AN
22FD02 FEX = 79.8 29 &, B AN
22FD02 ES e — &
22FD02 W& 87.0 16 &, A #Ah
22FD02 R 93.2 2 =
22FD02 Wla HhE — =
22FD02 = I 83. 6 23 &, B AN
22FD02 o B HhE — #
22FD02 AN B E — &
22FD02 FHE 81.4 25 &, B AN
22FD02 IR 93.0 3 =
22FD02 =) ik 92.8 4 =
22FD02 1 % 91.8 5 =
22FD02 JEAE A2 71. 15 36 &, B A
22FD02 B A 91. 4 6 =
22FD02 7k 3 89. 7 10 =
22FD02 KiE=E 72.7 35 &, B A
22FD02 KEUE 75. 2 33 &, B A
22FD02 7K 1 80. 7 27 &, B AN
57, 36T




RARE | Fakt | F_BHBERSK AL A HE & EEHNT—HE| &=
22FD02 Tk 45 B 88. 2 12 =
22FD02 R 79.5 30 %, A
22FD03 E— 78.9 10 &, A
22FD03 A By — &
22FD03 17 ¥k 82.0 6 =
22FD03 R 89.8 1 =
22FD03 I & ey — &
22FD03 s 86. 7 2 =
22FD03 EAF 81.9 7 =
22FD03 %A 83. 2 5 =
22FD03 Vsl 81.5 8 =
22FD03 x 81.0 9 &, %A
22FD03 AL 84.5 3 =
22FD03 Y 83. 2 4 =
22FD03 TT— 75. 2 11 &, A
22FD03 7K 1B F By — =
22FD04  [E 7k « % 3 /] 87.5 2 =
22FD04 JE & Bl 88. 2 1 =

%567, 6T




